## City of Scottsbluff, Nebraska

Monday, September 15, 2014 Regular Meeting

## **Item Bids1**

Council to consider the recommendation regarding the bid for the Riverside Zoo Entrance and Ave. N intersection.

Staff Contact: Rick Kuckkahn, City Manager



## M.C. Schaff & Associates, Inc.

818 S Beltline Highway East Scottsbluff, Nebraska 69361 308-635-1926 Phone 308-635-7807 Fax www.mcschaff.com

Riverside Zoo Entrance & Avenue 'N' Intersection					PaulReed Construction				Engineers Estimate			
City of Scottsbluff					2970 N. 10th St							
Bid Date: September 9, 2014 @ 2:00 pm Mountain Time					Gering, NE 69341							
No.	Description	Unit	Quantity	Unit Cost Total			Ų	Unit Cost Total				
Base Bid												
1	Mobilization	LS	1	\$	5,413.70	\$	5,413.70	\$	5,000.00	\$	5,000.00	
2	Remove Existing Pavement, Curb, Gutter, Etc	SF	3300	\$	2.52	\$	8,316.00	\$	1.00	\$	3,300.00	
3	Remove Bollard	LS	1	\$	340.44	\$	340.44	\$	250.00	\$	250.00	
4	Embankment (Established Quantity)	CY	200	\$	70.26	\$	14,052.00	\$	20.00	\$	4,000.00	
5	9-Inch P.C. Concrete Pavement	SY	765	\$	74.87	\$	57,275.55	\$	43.00	\$	32,895.00	
6	24-Inch P.C. Concrete Curb & Gutter	LF	65	\$	31.37	\$	2,039.05	\$	20.00	\$	1,300.00	
7	30-Inch P.C. Concrete Curb & Gutter	LF	15	\$	48.82	\$	732.30	\$	20.00	\$	300.00	
8	10-Foot P.C. Concrete Valley Gutter	SF	200	\$	10.60	\$	2,120.00	\$	8.00	\$	1,600.00	
9	6-Inch P.C. Concrete Driveway	SF	110	\$	12.13	\$	1,334.30	\$	6.00	\$	660.00	
10	4-Inch P.C. Concrete Sidewalk	SF	325	\$	8.54	\$	2,775.50	\$	4.00	\$	1,300.00	
11	Handicap Ramp	EA	2	\$	2,276.26	\$	4,552.52	\$	750.00	\$	1,500.00	
12	Standard Storm Drain Inlet	EA	2	\$	3,071.06	\$	6,142.12	\$	2,000.00	\$	4,000.00	
13	Storm Drain Manhole	EA	1	\$	4,719.14	\$	4,719.14	\$	3,500.00	\$	3,500.00	
14	15-Inch RCCP Storm Drain Pipe	LF	50	\$	129.81	\$	6,490.50	\$	50.00	\$	2,500.00	
15	30-Inch RCCP Storm Drain Pipe	LF	200	\$	104.88	\$	20,976.00	\$	70.00	\$	14,000.00	
16	30-Inch Concrete Flared End Section	EA	4	\$	1,429.98	\$	5,719.92	\$	1,500.00	\$	6,000.00	
17	2-Inch Gravel Surface Course	CY	10	\$	131.74	\$	1,317.40	\$	75.00	\$	750.00	
18	Relocate Fire Hydrant & Valve	LS	1	\$	8,740.06	\$	8,740.06	\$	1,500.00	\$	1,500.00	
19	Adjust Manhole to Grade	EA	3	\$	991.34	\$	2,974.02	\$	400.00	\$	1,200.00	
20	Seeding & Mulch	ACRE	0	\$	19,669.47	\$	2,950.42	\$	5,000.00	\$	750.00	
	1 Thru 20	\$158,980.94				\$86,305.00						

Project Number: RM140252-00

## Agenda Statement

Item No.

For Meeting of: September 15, 2014

AGENDA TITLE: Recommendation for bid received for Riverside Zoo entrance & Avenue N intersection project.								
SUBMITTED BY: Mark Bohl, Director of Public Works								
PRESENTATION BY: Rick Kuckkahn, City Manager								
SUMMARY EXPLANATION: One bid was received on September 9, 2014 for the Riverside Zoo Entrance and Avenue N intersection project. The bid was from Paul Reed Construction for \$158,980.94. This bid is almost twice the engineers' estimate. Recommend rejecting the bid and rebid this project at a later date.								
BOARD/COMMISSION RECOMMENDATION:								
STAFF RECOMMENDATION: Council approve rejecting bid and re-bid at a later date.								
EXHIBITS								
Resolution   Ordinance   Contract   Minutes   Plan/Map								
Other (specify) X Bid Tab								
<b>Notification List:</b> Yes $\square$ No $\square$ Further Instructions $\square$								
APPROVAL FOR SUBMITTAL:  City Manager								